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There is a concern over the increase in
harmful algal blooms in the seawaters of
India. What could be the causative
factors for this phenomenon ?

. Discharge of nutrients from the
estuaries.

2. Run-oft from the land during the
TONS00L.

3. Upwelling in the seas.

Select the correct answer from the
codes given below :

(a) 1 only

(b) | and 2 only
(¢) 2 and 3 only
(d)y 1.2 and 3

Consider the following :
I. Photosynthesis
2. Respiration
3. Decay of organic matter
4. Volcanic action

Which of the above add carbon dioxide
10 the carbon cycle on Earth ?

(a) | and 4 only
(b) 2 and 3 only
{¢) 2. 3 and 4 only
(d) L2 3und 4

Recently, the USA decided to support
India’s membership in  multi-lateral
export control regimes called the
“Australia Group” and the “Wassenaar
Armrangement”. What is the difference
between them ?
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1. The Australia Group is an informal
arrangement which aims to allow
exporting couniries to minimize the
risk of assisting chemical and
biological weapons proliferation,
whereas the Wassenuar Arrange-
ment is a formal group ander the
OECD holding identical objectives.

2. The Australia Group comprises
predominantly of .Asian. Afncan
and North American countries,
whereas the member countries of
Wassenaar Arrangement are pre-
dominantly from the European
Union and American continents.

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

. The surface of a lake is frozen in severe

winter, but the water at its bottom is stilt
liguid. What is the reason ?

(a) Ice is a bad conductor of heat

(b) Since the surface of the lake is at
the same temperature as the air, no
heat is lost

(¢) The density of water is maximum
at 4°C

(d) None of the statements (a), (b) and
(c} given above is correct



